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Year 10 Triple Science HT3 - Homework Plan Science

Week/Date Homework Task Examination Question

Week 1
4th January

Cornell Notes on plant diseases and
defences Answer the exam questions on plant

hormones

Week 2
9th January

Revision Cards on investigating the
effect of plant hormones Answer the exam questions on

investigating plant hormones

Week 3
16th January

Cornell Notes on metal properties and
alloy properties. Answer the exam questions on alloys

Week 4
23rd January

Revision Cards on the structure of the
brain and eye Answer the exam questions on the eye.

Week 5
30th January

Cornell notes on the formation of
stars Answer the exam questions on space

Week 6
6th February

Revision Cards on flame tests
Answer the exam questions on flame
tests.





Year 10 Triple Science HT4 - Homework Plan Science

Week/Date Homework Task Examination Question

Week 1
20th February

Cornell Notes on metal hydroxides
and carbonates Answer the exam questions on

detecting metal hydroxides and
carbonates

Week 2
27th February

Cornell notes on flame emission
spectroscopy Answer the exam questions on flame

emission spectroscopy

Week 3
6th March

Revision cards on pressure in gases
and fluids Answer the exam questions on pressure

Week 4
13th March

Cornell notes on radiation and half
lives Answer the exam questions on

radiation

Week 5
20th March

Revision cards on nuclear fission
Answer the exam questions on nuclear
fission

Week 6
27th March

Revision cards on nuclear fusion
Answer the exam questions on nuclear
fusion







WEEK 1 Half Term 1
Date…………………………………………….

(a)     When a seed starts to grow, the young root grows downwards towards gravity.

The young shoot grows upwards, away from gravity.

(i)      Name this type of plant response to gravity.

______________________________________________________________

(1)

(ii)     Give two reasons why it is useful for a young root to grow towards gravity.

1. ____________________________________________________________

______________________________________________________________

2. ____________________________________________________________

______________________________________________________________

(2)

(iii)    The root grows towards gravity due to the unequal distribution of a substance in
the root.

Draw a ring around the correct answer to complete the sentence.

(1)



Date           /          / Topic

Questions Notes

Summary



WEEK 2  Half Term 1
Date…………………………………………….

The drawings show some apparatus and materials.

Describe how the students could use some or all of the apparatus and materials shown in the
drawings to investigate the growth response of maize seedlings to light shining from one
side.

You should include a description of the results you would expect.

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

(6)

You now need to complete your revision cards



WEEK 3 Half Term 1
Date…………………………………………….

This question is about metals and alloys.

(a) Explain how electricity is conducted in a metal.

To gain full marks you must include a description of the structure and bonding of a metal.

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

(4)

(b) Describe how the structure of an alloy is different from the structure of a pure
metal.

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

(2)

(c) Alloys are used to make dental braces and coins.

(i)      Nitinol is an alloy used in dental braces.

Why is Nitinol used in dental braces?

______________________________________________________________

______________________________________________________________

(1)



Date           /          / Topic

Questions Notes

Summary



WEEK 4 Half Term 1
Date…………………………………………….

The human eye can focus on objects at different distances.

Figure 1 shows how a clear image of a distant object is formed in a person’s eye.

Figure 1

(a)  Explain how the person’s eye could adjust to form a clear image of a nearer object.

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

(6)



(b)  Explain why a long-sighted person has difficulty seeing near objects clearly.

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

(2)

(c)  Long-sightedness can be corrected by wearing spectacles.

Describe how spectacle lenses can correct long-sightedness.

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

(3)

You now need to complete your revision cards



WEEK 5 Half Term 1
Date…………………………………………….

In 1929, the astronomer Edwin Hubble observed that the light from galaxies moving away from the
Earth had longer wavelengths than expected.

(a)     What name is given to this effect?

___________________________________________________________________

___________________________________________________________________

(1)

(b)     From his observations, Hubble was able to calculate the speed of a galaxy and the
distance of the galaxy from the Earth.

Figure 1 shows the results of Hubble’s calculations.

Figure 1

What relationship between the speed of a galaxy and the distance is suggested by Hubble’s
results?

___________________________________________________________________

___________________________________________________________________

(1)



The observations made by Hubble support the idea that the Universe is expanding. This means
that galaxies are continually moving away from each other and from the Earth.

Figure 2 shows a student using a balloon to model the idea of an expanding Universe.

Some dots, which represent galaxies, were marked on the balloon.

The balloon was then inflated.

Figure 2

(c)     Give one strength and one weakness of this model in representing the idea of an
expanding Universe.

Strength ___________________________________________________________

___________________________________________________________________

Weakness _________________________________________________________

___________________________________________________________________

(2)

In the 1950s there were two main theories to explain how the Universe began.

(d)     In what way do the observations made by Hubble support both Theory 1 and Theory 2?

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

(1)



Date           /          / Topic

Questions Notes

Summary



WEEK 6 Half Term 1
Date…………………………………………….

A student tested copper sulfate solution and calcium iodide solution using flame tests.

This is the method used.

1.   Dip a metal wire in copper sulfate solution.

2.   Put the metal wire in a blue Bunsen burner flame.

3.   Record the flame colour produced.

4.   Repeat steps 1 to 3 using the same metal wire but using calcium iodide solution.

(a)  What flame colour is produced by copper sulfate solution?

___________________________________________________________________

(1)

(b)  Calcium compounds produce an orange-red flame colour.

The student left out an important step before reusing the metal wire.

The student’s method did not produce a distinct orange-red flame colour using calcium iodide
solution.

Explain why.

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

(2)

(c)  The student added sodium hydroxide solution to:

•   copper sulfate solution

•   calcium iodide solution.

Give the results of the tests.

Copper sulfate solution ________________________________________________

___________________________________________________________________

Calcium iodide solution ________________________________________________

___________________________________________________________________

(2)
You now need to complete your revision cards



HALF
TERM

4



Date…………………………………………….

WEEK 1 Half Term 4

This question is about chemicals in fireworks.

Coloured flames are produced because of the metal ions in the fireworks.

(a)  What colour flame would sodium ions produce?

___________________________________________________________________

(1)

(b)  Name a metal ion that would produce a green flame.

___________________________________________________________________

(1)

(c)  Some fireworks contain a mixture of metal ions.

Why is it difficult to identify the metal ions from the colour of the flame?

___________________________________________________________________

___________________________________________________________________

(1)

Carbon dioxide is produced when metal carbonates are heated.

(a)    (i)      Draw a ring around the correct answer to complete the word equation.

(1)



(ii)     Draw a ring around the correct answer to complete the sentence.

The reaction to produce carbon dioxide from magnesium

combustion.

carbonate is decomposition.

fermentation.

(1)



Date           /          / Topic

Questions Notes

Summary



WEEK 2 Half Term 4
Date…………………………………………….

Flame emission spectroscopy is used to identify metal ions in a firework.

The diagram below shows:

•   the flame emission spectra of five individual metal ions

•   a flame emission spectrum for a mixture of two metal ions.

Which two metal ions are in the mixture?

Tick two boxes.

(2)



The compounds in fireworks also contain non-metal ions.

A scientist tests a solution of the chemicals used in a firework.

(e)  Silver nitrate solution and dilute nitric acid are added to the solution.

A cream precipitate forms

Which ion is shown to be present by the cream precipitate?

___________________________________________________________________

(1)

(f)  Describe a test to show the presence of sulfate ions in the solution.

Give the result of the test if there are sulfate ions in the solution.

Test _______________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

Result _____________________________________________________________

___________________________________________________________________

(3)



Date           /          / Topic

Questions Notes

Summary



WEEK 3 Half Term 4
Date…………………………………………….

The photograph below shows a balloon filled with helium gas.

(a)  Which statements describe the movement of the gas particles in the balloon?

Tick (✓) two boxes.

(2)

(b)  The pressure of the helium in the balloon is 100 000 Pa.

The volume of the balloon is 0.030 m3.

The balloon is compressed at a constant temperature causing the volume to decrease to

0.025 m3.

No helium leaves the balloon.

Calculate the new pressure in the balloon.



___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

New pressure = _______________ Pa

(4)

(c)  The temperature of the helium in the balloon was increased.

The mass and volume of helium in the balloon remained constant.

Explain why the pressure exerted by the helium inside the balloon would increase.

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

(4)

You now need to complete your revision cards



WEEK 4 Half Term 4
Date…………………………………………….

A teacher used a Geiger-Muller tube and counter to measure the number of counts in 60 seconds
for a radioactive rock.

(a)  The counter recorded 819 counts in 60 seconds. The background radiation count rate
was 0.30 counts per second.

Calculate the count rate for the rock.

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

Count rate = ______________________ per second

(3)

(b)  A householder is worried about the radiation emitted by the granite worktop in his
kitchen.

1 kg of granite has an activity of 1250 Bq. The kitchen worktop has a mass of 180 kg.

Calculate the activity of the kitchen worktop in Bq.

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

Activity = ___________________ Bq

(2)



(c)  The average total radiation dose per year in the UK is 2.0 millisieverts.

The table below shows the effects of radiation dose on the human body.

Radiation dose
in millisieverts

Effects

10 000 Immediate illness; death within a few
weeks

1000 Radiation sickness; unlikely to cause
death

100 Lowest dose with evidence of causing
cancer

The average radiation dose from the granite worktop is 0.003 millisieverts per day.

Explain why the householder should not be concerned about his yearly radiation dose from
the granite worktop.

One year is 365 days.

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

(2)



Date           /          / Topic

Questions Notes

Summary



WEEK 5 Half Term 4
Date…………………………………………….

Radioactive waste from nuclear power stations is a man-made source of background radiation.

(a)  Give one other man-made source of background radiation.

___________________________________________________________________

(1)

Nuclear power stations use the energy released by nuclear fission to generate electricity.

(b)  Give the name of one nuclear fuel.

___________________________________________________________________

(1)

(c)  Nuclear fission releases energy.

Describe the process of nuclear fission inside a nuclear reactor.

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

(4)

You now need to complete your revision cards



WEEK 6 Half Term 4
Date…………………………………………….

The process of nuclear fusion results in the release of energy.

(a)     (i)     Describe the process of nuclear fusion.

______________________________________________________________

______________________________________________________________

______________________________________________________________

______________________________________________________________

(2)

(ii)     Where does nuclear fusion happen naturally?

______________________________________________________________

(1)

(b)     For many years, scientists have tried to produce a controlled nuclear fusion reaction
that lasts long enough to be useful. However, the experimental fusion reactors use more
energy than they produce.

(i) From the information given, suggest one reason why nuclear fusion reactors are
not used to produce energy in a nuclear power station.

______________________________________________________________

______________________________________________________________

(1)

(ii)     Suggest one reason why scientists continue to try to develop a practical nuclear
fusion reactor.

______________________________________________________________

______________________________________________________________

(1)

(Total 5 marks)
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HT3 Revision Cards

Revision Card on plant hormones
and responses.

1. Name the response of plant roots
to gravity.

2. Name the response of plant roots
to light.

3. State the role of auxin.
4. State the role of gibberellins.

Answers

……………………………………………………………………………………………………………………………………………………………………

Revision Card on the brain and eye

1. State the function of the medulla.
2. State the function of the

cerebellum
3. Describe what happens in the eye

of someone with myopia
4. Describe how to correct myopia.
5. Explain why brain injuries are

hard to treat.

Answers

……………………………………………………………………………………………………………………………………………………………………

Revision Card on flame tests

1. State what flame tests are used
to identify

2. Describe how to carry out a flame
test

3. What colour flame will sodium
ions produce?

4. What might you observe if there
was a mixture of ions?

Answers





HT4 Revision Cards

Revision Card on pressure in gases
and fluids

1. Describe the relationship
between depth and pressure in
fluids.

2. Recall the equation used to
calculate pressure in a liquid.

3. Recall the unit used to measure
pressure.

Answers

……………………………………………………………………………………………………………………………………………………………………

Revision Card on nuclear fission

1. Define the term nuclear fission
2. Describe what happens during a

nuclear fission reaction
3. Explain the potential uses of

nuclear fission
4. What is meant by a chain

reaction?

Answers

……………………………………………………………………………………………………………………………………………………………………

Revision Card on nuclear fusion

1. Define the term nuclear fusion
2. Describe what happens during

nuclear fusion
3. Give an example of where

nuclear fusion happens in nature
to release energy.

4. Explain why fusion has to be a
rapid process.

Answers




